Pioneer 1000

Replacement Parts List: Hard Front Doors

Part Number 0SU95-HL4-105 (2018-20)
7/23/2019

e —+ ol +—(25)
23— _ & 3

[‘# oy 8y

(41)

(14) @C.—(m ‘ ‘

“w"% (29) @\;_“E'} éﬁ,—ns] g

(23:; (28l
{22)—

42) © —% S——1»

(48) (4)—r
(31—
~ (30)
I oy
R
N

I@E‘T) ¢al—gu E@,— (6)

(33)

(38) (37)
{38)
O~

{3

(32) ﬁ

Reqg'd
No. Description P/N eq Package contains
Qty
#4 & #3
A B-Pillar Bracket L & R 0SU95-HL4-104R10 1
L & R Brkts
1 Door, Right Not available 1 N/A
2 Door, Left Not available 1 N/A
3 B-Pillar Bracket, Right 0SU95-HL4-104R10 1 See "A"
4 B-Pillar Bracket, Left 0SU95-HL4-104R10 1 See "A"
5 B-pillar brace Not available 2 N/A
6 |Upper Left hinge(inclu mating hinge, not shown) 0SU95-HL4-104R16 1 #6 & mating hinge
Low Hinge Kit(inclu mating hinge, not shown, 9, Includes low hinges,
7 36, 37, 38, 39) 0SU95-HL4-105R1 1 springs, collars, caps
8 Upper Right hinge(inclu mating hinge, not 0SU95-HLA-104R13 1 #8 & mating hinge
shown)
Low Hinge Kit(inclu mating hinge, not shown, 9, Includes low hinges,
9 36, 37, 38, 39) 0SU95-HL4-105R1 1 springs, collars, caps
10 6 x 20 mm bolt 0SU95-HL4-10R7 4 10
11 8 x 20 mm bolt 0SU95-HL4-10R9 36 5
12 10 x 130 mm bolt 0SU95-HL4-10R10 2 1
13 6 mm flat washer 0SU95-HL4-10R3 4 10
14 8 mm washer 0SU95-HL4-10R4 36 10
15 10 mm Flat Washer Not available 6 N/A
16 6 mm nylock nut OSR85-HL4-101R4 4 10
17 8 mm flange nut 0SU95-HL4-10R1 18 10
18 10 mm nylock nut 0SU95-HL4-10R2 4 2
19 Fender washer Not available 4 N/A
20 Inner striker clamp Not available N/A

HONDASXS. CCIM




21 Outer striker clamp Not available 2 N/A
22 Striker bracket, Right 0SU95-HL4-101R2 1 1
23 Striker bracket, Left 0SU95-HL4-101R1 1 1
24 Striker pin 0SU95-HL4-101R3 2 1
25 Top-left cover (LHT) 0SU95-HL4-101R5 1 475 8 26
26 Bottom-left cover (LHB) 0SU95-HL4-101R5 1
27 Top-right cover (RHT) 0SU95-HL4-101R6 1 477 8 28
28 Bottom-right cover (RHB) 0SU95-HL4-101R6 1
29 Trim clip 0SU95-HL4-10R20 10 10
30 Striker bracket cover, Right 0SU95-HL4-104R25 1 1
31 Striker bracket cover, Left 0SU95-HL4-104R24 1 1
32 Strap clamp 0SU95-HL4-104R15 4 1
33 Door Tether 0SU95-HL4-104R11 2 2
34 1-1/2 inch Foam Tape Not available 1 N/A
35 1 inch Foam Tape Not available 1 N/A
20 mm plastic sleeve/Low Hinge Kit(inclu Includes low hinges,
36 mating hinge, not shown, 9, 36, 37, 38, 39) 05U95-HL4-105R1 1 springs, collars, caps
R. Torsion spring/Low Hinge Kit(inclu mating Includes low hinges,
37 hinge, not shown, 9, 36, 37, 38, 39) 05U95-HL4-105R1 1 springs, collars, caps
L Torsion spring/Low Hinge Kit(inclu mating Includes low hinges,
38 hinge, not shown, 9, 36, 37, 38, 39) 05U95-HL4-105R1 1 springs, collars, caps
i it(i i i Includes low hinges,
39 | Fubbercar/ iﬁfw”r:f‘g;'gf‘;@f';‘;’;;')”g inge | osugs-HLa-105R1 1 | springs,collars,caps
40 Glass, right door 0SU95-HL4-104R18 1 1
41 Glass, left door 0SU95-HL4-104R17 1 1
42 Glass, A-Pillar (L&R) 0SU95-HL4-104R19 2 1
43 Window Felt Guide 0SU95-HL4-104R20 2 1
44 Outer Door Trim/seal 0SU95-HL4-104R23 2 1
45 Window Crank Arm (incl. clip & bezel) 0SU95-HL4-104R6 2 1
46 Inner Door Latch, Left 0SU95-HL4-104R21 1 1
47 Inner Door Latch, Right 0SU95-HL4-104R22 1 1
48 Door Handle & Key set 0SU95-HL3-104R1 2 1

HONDASXS.COM




HONDASXS.COM



&(29] @}-—“5‘ @I—UB] E i3)

Pioneer 1000

Replacement Parts List: Hard Front Doors

Part Number OSU95-HL4-104 (2016-18)
7/23/2019

m

No. Description P/N Reg'd Qty| Package contains
A B-Pillar Bracket L & R 0SU95-HL4-104R10 1 #4 & #3
1 Door, Right Not available 1 N/A
2 Door, Left Not available 1 N/A
3 B-Pillar Bracket, Right 0SU95-HL4-104R10 1 See "A"
4 B-Pillar Bracket, Left 0SU95-HL4-104R10 1 See "A"
5 B-pillar brace Not available 2 N/A
6 Upper Left hinge(inclu mating hinge, not shown) 0SU95-HL4-104R16 1 #6 & mating hinge
7 Lower Left hinge(inclu mating hinge, not shown) 0SU95-HL4-104R14 1 #7 & mating hinge
8 Upper Right hinge(inclu mating hinge, not shown) 0SU95-HL4-104R13 1 #8 & mating hinge
9 Lower Right hinge(inclu mating hinge, not shown) 0SU95-HL4-104R12 1 #9 & mating hinge
10 6 x 20 mm bolt 0SU95-HL4-10R7 4 10
11 8 x 20 mm bolt 0SU95-HL4-10R9 36 5
12 10 x 130 mm bolt 0SU95-HL4-10R10 2 1
13 6 mm flat washer 0SU95-HL4-10R3 4 10
14 8 mm washer 0SU95-HL4-10R4 36 10
15 10 mm Flat Washer Not available 6 N/A
16 6 mm nylock nut OSR85-HL4-101R4 4 10
17 8 mm flange nut 0SU95-HL4-10R1 18 10
18 10 mm nylock nut 0SU95-HL4-10R2 4 2
19 Fender washer Not available 4 N/A
20 Inner striker clamp Not available 2 N/A
21 Outer striker clamp Not available 2 N/A
22 Striker bracket, Right 0SU95-HL4-101R2 1 1
23 Striker bracket, Left 0SU95-HL4-101R1 1 1
24 Striker pin 0SU95-HL4-101R3 2 1
25 Top-left cover (LHT) 0SU95-HL4-101R5 1 45 8 26
26 0SU95-HL4-101R5 1

Bottom-left cover (LHB|




27 Top-right cover (RHT) 0SU95-HL4-101R6 1 477 8 28
28 Bottom-right cover (RHB) 0SU95-HL4-101R6 1

29 Trim clip 0SU95-HL4-10R20 10 10
30 Striker bracket cover, Right 0SU95-HL4-104R25 1 1
31 Striker bracket cover, Left 0SU95-HL4-104R24 1 1
32 Strap clamp 0SU95-HL4-104R15 4 1
33 Door Tether 0SU95-HL4-104R11 2 2
34 Glass, right door 0SU95-HL4-104R18 1 1
35 Glass, left door 0SU95-HL4-104R17 1 1
36 Glass, A-Pillar (L&R) 0SU95-HL4-104R19 2 1
37 Window Felt Guide 0SU95-HL4-104R20 2 1
38 Outer Door Trim/seal 0SU95-HL4-104R23 2 1
39 Window Crank Arm (incl. clip & bezel) 0SU95-HL4-104R6 2 1
40 Inner Door Latch, Left 0SU95-HL4-104R21 1 1
41 Inner Door Latch, Right 0SU95-HL4-104R22 1 1
42 Door Handle & Key Set 0SU95-HL3-104R1 2 1

HONDASXS.COM




